
 

 

Example  

 
1,475.97 – 816.00 = 659.97 is only one of many accounting entanglements. All 
the notes at Bk467p191 describe what are actually accounting entanglements.  
 

May 19 letter:  348.89 and 659.97 
Note 1:   270.82 
Note 2:   230.14 
Note 3:   delay of appraisal, debts, and gifts  
Note 4:   189.26 and 20.00 
Note 5:   says 2,000.00 but actually zero 
Note 6:   241.81  
Note 7:   car as gift 
 

I am using 1,475.97 – 816.00 = 659.97 as a representative example because it is 
so simple. 

 
 
 



 

 
1,475.97 – 816.00 = 659.97 
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Sticky Note
Notes:
The items  described in these seven notes create accounting entanglements that make the accounting trails behind Bk467p191 impossible to expose. All except note 6 make it appear that our family is responsible.

In practice the accounting entanglements are like invisible cover. Because the numbers are small like 659.97 in 1,475.97 - 816.00 = 659.97, and most readers would assume that the amount is the issue and not that they are accounting entanglements, they are dismissed as insignificant.  To verify ask the accountants to expose their accounting trails.

Because "accounting entanglement" and is a long word and "659" is short and the source easy to see,  I will at times refer to accounting entanglements as "659s"
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  20.00
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There are two versions of the extension request. One version says $175,00 was paid to the IRS on June 11, 1992; and one version says that $119,00 was paid to the IRS on June 11, 1992



anthonyoconnell
Rectangle

anthonyoconnell
Text Box
241.81
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The trust, not the estate, hired the appraiser and paid the appraiser, so the accountants instructions to trusting family member(s) that would create accounting entanglements such as the following could not be done:

"5. Since the trust was supposed to terminate on Mother's death, the $2000.00 for the appraisal should be paid to the beneficiaries, not to the trust. The checks from Sheila and me can then be paid back to you.
6. Please send a copy of the appraiser's bill and his notation that it has been paid so that the estate may claim the payment for the appraisal as a deduction."
(From Jean Nader's July 27, 1992, to Anthony O'Connell)

 The estate never reimbursed the trust.
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I cannot stop the accountants from instructing trusting family members to sign documents that create accounting entanglements using, if the car is being treated as a gift, ",,, the estate tax computation and the interplay of the gift tax."
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Says 2,000 but is actually zero.
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